
9 
 

Apply  ܥଶ → ଷܥ ଶ  andܥ ݕ →  ଷܥ ݖ

=(௫ା௬ା௭)మ

௬௭
ቮ
2yz ݖݕ2− ݖݕ2−
ଶݕ ݖݕ) + ݔݕ − (ଶݕ 0
ଶݖ 0 ݔݖ) + ݕݖ − (ଶݖ

ቮ 

Apply  ܥଶ → ଷܥ ଵandܥ+ଶܥ →  ଵܥ+ଷܥ

=(௫ା௬ା௭)మ

௬௭
ቮ
2yz 0 0
ଶݕ ݖݕ) + (ݔݕ ଶݕ

ଶݖ ଶݖ ݔݖ) + (ݕݖ
ቮ 

expanding along ܴଵ 
 

 =ቀ(௫ା௬ା௭)మ

௬௭
ቁ2ݖݕ)]ݖݕ + ݔݖ)(ݔݕ + −(ݕݖ  [ଶݖଶݕ

+ݔ)2= ݕ + ଶݖݕݔ]ଶ(ݖ + ݖݕଶݔ + ݖଶݕݔ + ଶݖଶݕ −  [ଶݖଶݕ
ݔ)ݖݕݔ2 = + ݕ + ݔ)ଶ(ݖ + ݕ +  (ݖ
ݔ)ݖݕݔ2 = + ݕ +  ଷ(ݖ
 

OR 

 
1 
 
 
 
 
 
1 
 
 
 
 
 
 
 
1 
 

 

|A| = 2(−2)− 3(2− 0) + 4(1− 0) = −6 ≠ 0 
∴ Aିଵexists 

Cofactors 
ଵଵܣ = ଵଶܣ          2− = ଵଷܣ           2− = 1 

ଶଵܣ − ଶଶܣ               2 = ଶଷܣ               4 = −2 

ଷଵܣ = ଷଶܣ              4 = ଷଷܣ          4 = −5 

ܣ ݆݀ܣ = ൥
−2 −2 1
−2 4 −2
4 4 −5

൩
ᇱ

 

ܣ ݆݀ܣ = ൥
−2 −2 4
−2 4 4
1 −2 −5

൩ 

ଵିܣ =
ܣ ݆݀ܣ

|ܣ| =
1
−6

൥
−2 −2 4
−2 4 4
1 −2 −5

൩ 

⇒ ܺ =  ܤଵିܣ

⇒ ܺ =
1
−6

൥
−2 −2 4
−2 4 4
1 −2 −5

൩ ൥
17
3
7
൩ 

** A = ൥
2 3 4
1 −1 0
0 1 2

൩ 

 

 

 

 

 

System of equations can be written as ܺܣ =  ܤ

Where A = ൥
2 3 4
1 −1 0
0 1 2

൩ ,ܺ = ቈ
ݔ
ݕ
ݖ
቉ ܤ, = ൥

17
3
7
൩ 

Now ܺܣ =  ܤ

 

1
2
 

 
 
 
1 
 
 
 
 
 
 
 
 
2 
 
 
 
 
 
 
 
 
 
1 
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⇒ ܺ =
1
−6

൥
−34− 6 + 28
−34 + 12 + 28

17−  6 − 35
൩ 

⇒ ܺ =
1
−6

൥
−12

6
−24

൩ 

⇒ ܺ = ቈ
ݔ
ݕ
ݖ
቉ = ൥

2
−1
4
൩ 

⇒ ݔ = 2, ݕ = −1, ݖ = 4 

 

 

1
1
2
 

 
 
 
 
 
 

 

34 

xଶ  + (1− ଶ(ݔ = 1 
xଶ + xଶ − ݔ2 + 1 = 1 
2xଶ − ݔ2 = 0 
ݔ)ݔ2 − 1) = 0 
ݔ = ݔ ݎ݋ 0 = 1 

න ඥ1 − ݔଶ݀ݔ −
ଵ

଴
න (1 − ݔ݀(ݔ
ଵ

଴
 

൤൬0 +
1
2

.
ߨ
2
൰ − 0൨ − ൤൬1 −

1
2
൰൨ 

xଶ  + yଶ = 1………………..(1) 
  x + y = 1…………………..(2) 
solving (1) and(2) 

 
 
Required area = shaded area ACBDA 
=area(OACBO)− area(OADBO) 
=∫ ௖௜௥௖௟௘ݕ) − ଵݔ݀(௟௜௡௘ݕ

଴  

         =൤௫√ଵି௫
మ

ଶ
+ ଵ

ଶ
sinିଵ ൨ݔ

଴

ଵ
− ቂݔ − ௫మ

ଶ
ቃ
଴

ଵ
 

ቀగ
ସ
− ଵ

ଶ
ቁ square units 

1
1
2

 

1
1
2
 

 
 
 
 
 
 
1 
 
 
 
 
 
1 
 
 
 
 
 
 
1 
 
 
 

 
 

 
 

35 Let ݎ be the radius and ℎbe the height of half cylinder 
Volume =ଵ

ଶ
ଶℎݎߨ = ܸ(constant)……………..(1) 

1
2

(݂݅݃) 
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